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"CCFlout.dat” FOR OUTPUT AS #1
n(20), i(20), p(20), e(20), gcum(20), sapt(20), v(20), h(20), np(20)
nnext (20), nharv(20)

3.141593

.03

25

2.5

kmin = 150

Dlimit = 50
Klimit = INT(Dlimit / 5)

TotPV = 0

TotHarv = 0

gcum(2) = 0

b0 = 1.506969

bl = .94255

b2 = —.000183455+#

FOR k = 1 TO 20

d =%k x .05

h(k) =3 k- (k/ 8) ~ 2
n(k) = .1

i(k) =0

p (k) 0

e(k) =0

sapt(k) = pi = (d / 2) ~ 2
v(k) = .5 % sapt(k) = h(k)
np(k) = p0 + pl * k



REM *hkkhkhkkhkhkkhkhkkhhkkhkkhkkhkkk*x*k Time lOOp Ak Kk hkkhhkKhkhkhkhrkhkkxkhkKhkKh*k*
FOR t = 1 TO 200

disc =1/ (1 + ) ~ ¢t

n(2) = 100

Stock 0
FOR k = 1 TO 20

Stock = Stock + n(k) * v(k)
NEXT k
StDif = 0

IF Stock > Stockmin THEN StDif = Stock - Stockmin

FOR k = 20 TO Klimit STEP -1
e(k) =0
volk = v(k) % n(k)

hshare StDif / (volk + .001)
e(k) = hshare
IF hshare > 1 THEN e(k) =1

StDif = StDif - e(k) % volk

nharv(k) = n(k) * e(k)
n(k) = n(k) » (1 - e(k))
NEXT k

harv = 0

prof =0

FOR k = 20 TO Klimit STEP -1

prof = prof + nharv(k) = np(k) * v(k)
harv = harv + nharv(k) » v(k)
NEXT k

TotPV = TotPV + disc x prof
TotHarv = TotHarv + harv

FOR k =
gcum (k)
NEXT k

1 TO 20
=0

REM Calculation of GCUM

FOR k = 1 TO 20

FOR j = k + 1 TO 20

gcum(k) = gcum(k) + n(j) » sapt(j)
NEXT j

NEXT k

REM Calculation of diameter increments

FOR k = 1 TO 20

d =k x 50

i(k) = b0 + bl % LOG(d) + b2 % gcum(k) ~ 3
IF i(k) < 0 THEN i(k) = 0

NEXT k

REM Calculation of the probabilities to move up
FOR k = 1 TO 20

plk) = i(k) / 50

NEXT k



FOR k = 2 TO 20
nnext (k) = n(k) + p(k — 1) = n(k = 1) — p(k) = n(k)
NEXT k

FOR k = 2 TO 20

n(k) = nnext (k)

NEXT k

IF t < 200 GOTO 100

YearHarv = TotHarv / 200

PRINT #1, "Rate of interest = ”; r; ” D-limit = ”; Dlimit
PRINT #1, ”“Total Stock = ”; Stock; ” Harvest per Year = ”; YearHarv
PRINT #1, ”“Present Value = "”; TotPV

PRINT #1, ” t d n”

FOR k = 2 TO 20

PRINT #1, USING “####”; t; 5 x k; n(k)

NEXT k

100 REM

NEXT t

CLOSE #1

END
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Real Rate of Interest 3%

Rate of interest = .03
Total Stock = 269.4913
Present Value = 9439.002
t d n
200 10 94
200 15 78
200 20 o4
200 25 54
200 30 48
200 35 43
200 40 41
200 45 40
200 50 6
200 55 0
200 60 0
200 65 0
200 70 0
200 75 0
200 80 0
200 85 0
200 90 0
200 95 0
200 100 0
Rate of interest = .03
Total Stock = 345.7441
Present Value = 9292.434

t
200
200
200
200
200
200
200
200
200
200
200
200
200
200
200
200
200
200

d
10
15
20
25
30
35
40
45
50
55
60
65
70
75
80
85
90
95

200 100

n
96
68
51
41
34
30
27
25
24
24
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D-1limit = 50
Harvest per Year

D-1limit = 60
Harvest per Year

13.40928

13.69293



Rate of interest = .03 D-1limit = 70
Total Stock = 410.7229 Harvest per Year = 13.61433
Present Value = 8698.839
t d n

200 10 98

200 15 59

200 20 42

200 25 33

200 30 27

200 35 22

200 40 20

200 45 18

200 50 16

200 55 16

200 60 15

200 65 15

200 70 2

200 75 0

200 80 0

200 85 0

200 90 0

200 95 0

200 100 0
Rate of interest = .03 D-1limit = 80
Total Stock = 466.8857 Harvest per Year = 13.45937
Present Value = 7888.022

t d n

200 10 98

200 15 52

200 20 35

200 25 206

200 30 20

200 35 17

200 40 15

200 45 13

200 50 12

200 55 11

200 60 10

200 65 10

200 70 10

200 75 10

200 80 2

200 85 0

200 90 0

200 95 0

200 100 0
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Real Rate of Interest 2%

Rate of interest = .02 D-1limit = 50
Total Stock = 269.4913 Harvest per Year = 13.40928
Present Value = 19371.83
t d n

200 10 94

200 15 78

200 20 o4

200 25 54

200 30 48

200 35 43

200 40 41

200 45 40

200 50 6

200 55 0

200 60 0

200 65 0

200 70 0

200 75 0

200 80 0

200 85 0

200 90 0

200 95 0

200 100 0

Rate of interest = .02 D-1limit = 60
Total Stock = 345.7441 Harvest per Year = 13.69293
Present Value = 20128.17

t d n

200 10 96

200 15 o638

200 20 51

200 25 41

200 30 34

200 35 30

200 40 27

200 45 25

200 50 24

200 55 24

200 60 4

200 65 0

200 70 0

200 75 0

200 80 0

200 85 0

200 90 0

200 95 0

200 100 0



Rate of interest = .02 D-1limit = 70
Total Stock = 410.7229 Harvest per Year = 13.61433
Present Value = 20011.59
t d n

200 10 98

200 15 59

200 20 42

200 25 33

200 30 27

200 35 22

200 40 20

200 45 18

200 50 16

200 55 16

200 60 15

200 65 15

200 70 2

200 75 0

200 80 0

200 85 0

200 90 0

200 95 0

200 100 0
Rate of interest = .02 D-1limit = 80
Total Stock = 466.8857 Harvest per Year = 13.45937
Present Value = 19353.99

t d n

200 10 98

200 15 52

200 20 35

200 25 206

200 30 20

200 35 17

200 40 15

200 45 13

200 50 12

200 55 11

200 60 10

200 65 10

200 70 10

200 75 10

200 80 2

200 85 0

200 90 0

200 95 0

200 100 0

KK AR A AR A AR A AR AR A A A A A I A A A A I A A IR A A I AR I AR A A IR A A I A A I AR A A A A A AR A AR A AR A A XAk



